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Fill in the box.

7 chocolate biscuits

5 plain biscuits

biscuits altogether

Cindy has 18p.

She spends 15p.

She has p left.

®

A drink costs 35p.

A cake costs 50p.

Together they cost

60 children in Year 2

4 are away

childen in school

100 tissues in a box

35 are used

tissues left

120 sheep in one field

60 sheep in the next field

sheep altogether

The classroom is 10 m long.

The Hall is 14 m longer.

The Hall is m long

20 pins in a box

6 are used

pins left

English lasts 55 minutes.

Music is 20 minutes shorter.

Music lasts minutes

Karen is on page 43.

She reads 8 more pages.

She is on page

65 adults

17 children

people

119 children in a school

90 have a school dinner

do not have a school dinner.



